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1. - What does the expression E J . A represent ?
(a) Power density
(h) WKadiatiom resistance
fe)  Mapnetic encrgy density
(d) Electric cnergy denaity
2. Consider the following statements :
In an n-type semiconductor
1. Fermi level lies below the donor Tevel at
room temperature (T
2. Ferini level lies abhove the donar level as
T — 0.
3. Fermi lovael lies in valence band.
4. 'ermi  level rematns invarianpt  with
Lemperature,
Which of the above statements isfare
eorrecl ¥
fal 1 only
by 1 and 2 anly
ey 2,3 and 4
(dy 1, 2and3
3. | R b= C=0UsF
et
L
v, = Van 4ty (\N\!
[]
I*or the cirenit as shown above, 1f the current
lcads the applicd voltage by tan™! 2, what is
the registance value i ohm ?
(A} «-h
iy 10
{cy 20
) 9o
O-FTF-J-FFA

4;

a.

P2 — A}

The dead zone in a pyrometer {s 0-125 pereent
of the span. The instrument is calibrated from
800" C Lo 2000° . What temperature change

must occur before it can be detected in degree
Centigrade ?

{a) 1875
by 1875
{c) 1875
{d) 01875

R, | L
PP e —
it

el L) JQ\

CE e b) §Rz

Consider the following equations with respect
to thi above network ;

_ di (£} .
1, L, ” = R,i14(8) - eft) + eft)
dilthJ _
2 L, T —R;i (t) — et + elt)
di, (L) .
3. L, 31, = —Ryiglt) + & ()
de (L) . .
4. C ';t = i,(t) =it}
Which of the gzhove statements is/aro
eorrecl 7
(a) 1 only

(b} 2 3 and 4
fe) 1,3 andA4
() 1, 2and4
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O-FTF-J-FFA

. AP B 8.
20
20a(t) gﬂ:ﬂ 1ﬂ§ Gblﬂn
0
Find the voltage of the node A with respect
to “0F for the cireuit as shown.
{a} 40V
(k) 20W
(€} BOV
(d] 60V
Match List I with List II and select the
eorrect anawer using the code given below
the lists :
Lint I Liat IT

Type of (Example)

Instrument)
A Indicating L. Wattmeter
B. Absolutc 2 1 ng,'ut‘

i ralvanometer

C. Rerording 3. Anercid barometler
). Integrating L Energy meter
Code :

A B i D
fay 1 2 b 4
fhl 4 2 3 1
fey 1 3 b 4
dy 4 3 2 1

(3 - A

¥yt - ¥l
ALY > Valt)
k, - ky
T 5 r—
f, M, | Fitp —» M,
] N sy | vy

A G P

Zero friction
¥ £} & gt} are dizplacements

v lt) & volt) are ve‘l-miufﬁ.s_.

- Whicl, one of the following is the correct free

body diagram for lhe physical system as

shown in the figure above 7

- }—)}" ]{1,} I-—)yz{u

Koy« Frkalyy — ¥p) <
141 Z2 1
=) . Ml M2 —» F{t)
l"lyl{_ I—)-fE{!;rE"‘!:rl}{_'
l—)yl I—)}f.;!
k, ¥« Loy, — ¥y
(bl . Ml Mg —»F
F1¥ e > L{d, — ¥,
klqu;— ——.‘rkz{yz —-:.rlll—}

(o M, M, |->¥

f'ljrl'% _}fg{::'ﬂ_frl] -
@ |y M, b
FI_YJ_—}' '}FE{FE Yl}{— -
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9. In a fluid flow system two fluids are mixed |18.
i appropriate propertton. The concentration
at the mixing point is wWt) and it is
reproduced without change, Ty seconds later
@t Lhe monitoring peint as bit) What iz the
transfer function between WU and y(t) ?)
{Where § is distance between monitoring
point and mixing pripe)
{a) o 4
(b) o"7a"
() o 4"
() o' e

16, The strain gauge with a resistance of |14,
250 ohm undergoes a change of 0-15 ohm.
Druring = lest the strain is 15 x 107 What is
Lhe gauge factor 7
fal -7
(b} 40
{e} 25
(dl  2-0

11, 1 |

-1 h"lg
+
v:lﬁﬂﬁfﬂnﬁﬂﬁt"é&)
= : L
For the AC circuit as gshown above, if the rms
valtage across the resister is 120 V, what is
~  the value of the induetor 7

(a) 0O-5H 15.
thl 06 H
ey 308
)y 151

12, Which onc of the following bridges will be
used for the measorement of wvery low
resistanes ?
{a}) Kelvin bridge
tb)»  Maxwell's bridece
(¢l  Whealstone bridge
(d} Hay's bridge

(Q-FTF-J-FFA {4 - A

S+ 2
s+ 1 Cisy.

Kzl

— >
Ris)

For what wvalue of K, are the two block
diagrama as shown above equivalent 7

fa) 1

(hy 2
() (s+ 1)
d) (s +2)

Consider the following -
1. Rise fime

"

Setiling time

5 Delay time

4. Pezk time

What is the correct sequence of the time
domain epecifications of a second order
uystem in the ascending order of the values ?

(al 2-4-1-23
by 3-4-1-2
(e .2-1-4-3 °
{dy 3-1-4-2

The oacilloscope has an input capacitance of
S0 pF and a resistance of 2MQ and the
voltage divider ratio (k) of '10. What are the
parametars of a high-impedance probe ?

(a) €, =580 pF and R, =9 MQ

{b} €, =556 pF and R; = 18 MG
e} G, -833pF and R, =9 MG
td) Cy=111pF and R, = 18 MG

Www.students_uvidha.in
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16. A unity foedback system with open lonp [19.
transfer function of - is excited by a
88 +5) Y
urat step 1npul. How much lime will he |
required for the response to settle within 2%
of final desired value 7
() 025 gec
(kY  1-80 zec
(c} 2-40 =ec
(d} 400 sec
l'f. Consider the following statements ;
1.« Amplticr gain and phase shift. 2,
2. Filler transfor functions,
3. Two port networix parameters.
4.  Powor gain in a Lwo port cireait.
Which of the ahove quantities can he
measured using a vector volimeter ?
(a} 1 and 2 only
b)) 1,2 and 4
e} 1,2 a8nd 3
(d) 3 andA4
14,
10907V i
o 14
)
if—orv i g1
|-|‘|I - d
D=>—1r
& . a
Replaee the ahove shown circuit by a single
voltage source In series wilth an inpedanee.
n) 28V, 1@
(b} 1V, 35
) 3V, 10
d) 2V, 34
O-FTF-I-FFA t B = A

A barium titanate crystal has a thickness of
2 mm. Ita voltage sensitivity is

12 % 107 VN, Tt ie subjected to A preasure
of 0-5 MN/m?, What is the voltage generated ?

(n) 3V
(bl 8V
{c} 5V
(d) 12V
_| 140
vy T
Js.‘i_:‘ Resistive | V 1
- | tircuit l
]
|

For the circuit as shown above, if E = E,
and L is removed, them V = 5 wolts. I E =D
and [ =1 A, then V =5 volts. For E = E; and |
r-::pla:c:ed by a resictor of 5 £, whal is the value
of ¥V in volis 7

{ay 50
{by 25
{c) 75
(dy 35
The tmpualse response of a second-order

under-damped systemn started from rest is
mven by :

Cit) = 12:5 e % gin 8t, t =2 0

What are the natural frequency and the
damping factor of the system respectively ?

{a) 10'and 06
{b} 10 and 08
{c] B and 06
{d] A and 0-8

www.studentsuvidha.in
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22, What will be the type of Lthe system, if the |26,
steady state performance of control system |
yields a non-zera finite wvalue of the wvelocity
crror constant ?

(a) type—-0
fb) type-—1
(e} type -2
(d) type—3 27.

23. On which of the following factors doos;,
hysterezis loss noef depend 7
fal Magnetic field intensily
(h)  Frequency of the field
e} Volome of the material
(dl  MNeal temperature

24. A strain gauge having a resistance of 50¢ ohm |28.
and a gauge factor 3.0 is honded on g member
of structure undergoing tenaile stiress, If the
chargs o resistance of the gange ie accurately
measared as 1'5 ohm, what is the valoe of
strain suffered by the membar 7
(a) 001
(bl 0001
(e} @1
(dl  O-0G3

. 29.

25,

ol
av .
For the circuit as shown above, what is the |30
value of T 7
{a) 4A
b} 3 A .
{c) 2.A
dy LA
O-FTF-J-FFA {6 - A
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Dissipation fhclor, tan §, of a capacitor is
measured by which bridee ? - :

(a) Anderson bl:.idge

(b} Hay bridge '

{e) Schering bridee

{d} Wien bridge

The characterisiic cquation of a feedback

control system is given by :
g7+ 6s° + O3 +4 =0

What is the numberof roots in the lefl-half of
the s-plane ?

{a} Three
(b}  Two
e} O
(dl  Fero

Which one of the following is rof a Maxwell’s
couation 7

a2} Vs H=0{7+ jme)E

(b} F=QG{E+v=B)

d

(e) H.ds= [ J.4 2og
[ i 5 —j 2 + a-t L]

A

(d) 35 B, ds =0

The unit step response of a system is
[1— e {1 + t)f u(t). What is the nature of the
system in turn of stability 2

ta]l Tnstahle

(b) Stable

(e} Critically stable
(d)  Oseillatory

A D'Arsanval galvanometer, 1 mA, 50 ohm is
to be éonverted to a 5 Amp-ammeter. Whalt is
the valwe of the shunt resistor, E,?

(a) 10 ohm
) 1 ohm
(e} 001 ohm
(d] 100 ohm
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31, 33,

Consider the following, with respect Lo the

. cwremt as shown above -

L V.= 10042 V

2. | L Irms =24

3. ja = {]'25 .!._1.

Which of the abhove statements s'are correet ?

() 3 only

(b} 2and3

() 1 and 3

(dl] 1land 2

34,
32. Consider  Lhe following statements  in
conneclion with Doundary celations of electrie
field :

1. In a single medivm electric field 1a
continuous,

2. The tangential components are the aame
on both sides of a boundary betvreen two
dielectrics.

3. The tangential eclectric field at  the
boundary of a diclecrie and a carrent
carrying conductoy with finite 35
eonductiviby 15 zern.

4.  Normal component of the flux donsity is
continuous  aecross  the  charge-free
boundary botween two diclectrics,

Which of the above statements ig/are correct ¥

(&) 1 only .

{by 1,24nd 3

fey 1, 2and4d

fd} 2 and 4 only

0-FTF-J-FFA {7 - Al

Consider the following :
1. Phase margin

2 Gain margin

3. Maximum overshoot
A Bandwidih

Which of the ahove are the Trequency dormain
specificatinns required 1o design a ermtrol
svstem ?

fa} 1 and 2 only
(b:.l'. 1 and 3 only
(e L 3ands
(d) 2, 2andd

A 010 300V voltmeler has an error of + 2%
of #2d. What is the range of readings if Lrue
obtage 15 30 V 7

fal 24V _-36V
by 20V 40V

(c) 294V 306V
(dy 20V -30 V"

Viz)
Tix)

1
pole at 5 = — — and a singic zer s-:-—«.rr:'_f.
J3 £

A ngtwarl funclieon FHe) = has & single

If the excilation (t) = gin t, then what is the
angle of lead or lag of the current

.

{a} Lead thc vottage by 30°

(It} Lag the voltage by 80°
(c] Lead the voltage by 90°

() La-g the voltage by 90°

www.studentsuvidha.in
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Magnetically hard -materials do not possess

3“!‘
which of the following characteristics ?
{a) High retentivity
{by TIligh coercivity -
{e)  Strong magnetic reluctance
{d) Zoero differential permeability

37, lm a digital  voltmeter, the oscillator
frequency iz 400 kHz. The ramp voltage
falls from 8 ¥V to 0 V in 20 ms. What is
the number of pulses counted by the
counler 7 ’ '
fay 8000
(b} 4000. -
{c) . 3200
(d} 1500

38. If the current {lowing through a 20 ohm
resistor ie glven as, :
ilt) =4 + 5 sinart — 3 cos 3 wt amp, then what
iz the power eansumed by the resistor
fa) 1004 W
(b} GGO W
.':l:] 500 W
(d) 180 W

3% What is the errar in magnitude at the corner
frequency for an asymptotic Bode magnitude
plot for the term (1 + aTF ™ 7
() +30Gndb
(b} +é&ndb
{t] x3ndb
(d) *1ndb

O-FFF-J-FFA (8

40,

431. -

A

Quartz and BaTiQ,; exhibit which of the

following properties ?
{8} Magnetostriction

(L} ' Perromagnelizm

{e)  Piezoelectricity
{d} " Ferroclectricity
WV
+ L

N 25 F = ' I
L
-
' |
For the above pgiven cireuit, if supply

frequency, v = 2 radfsec and V, =2 .2 0° volts,
then what ia the lead angle of Vy, with v, 7

{ay 15°
by 4%°
(c) 90°
(dy 135°

" A long straight wire carries a current I = 1A,

b

At what distance is the magnetic field

T Aml? .
(a] 1'58m
by 0-159m
(] 00159 m
(dl  0-00159 m

| www.studentsuvidha.in -
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43. A homan nerve cell has an open circuit [46.
voltage of 80 mV and it can deliver u
current of 5 nA through a 6 M chm load.
What iz Lhe maximoam power available from
Lhe cell 7
(a) 016 nW
(b) 16 mW
ey 16W
()" 16 pW

44, YWhat is the slope of the line due to j_m factor
in magnitude part of Bode plot ?
fa} — 20 db per octave
(b} - 10 db per octave
{c] - 6db per octave
(dy - 2db per octave

45, The poles and zeroes of a driving point
impedance function, =z(3) are as ‘4

Fales 0, —2
Zorpes -1, -3
and z (=) = 4
ihen what is ={z) 7
2 )
(ﬂ) ————"—{: +25—f
(25 + Bg + )
a2
(b3 {;s + 4g)
(5" + 45+ 3)
{s" + 45+ 3)
& —5——
(5° + 2z}
2 <
(et} {4s +2155+ 123
‘ (8* + 2g)
Q-FTF-J-FFA {9 - A

Consider the fallowing

1. MHuman errors

2. Tmpraper applieation of instruments

3, Error due to worn paris of an instrument
1. Errura due to offeets of envivonment

Which of the abaove come under the type of

‘syslematic errors 7

{a) land2
{(b) 2and 4
(¢) T andd
fd} 1 and 4

Which one of the following statements is
correct for the open-loap transfer function ?

cisr = B3 ks
a{z—1)
(2} Open-loop system is gtable but the
closed-loop system 13 unatable,
{h] Open-lnop system ia unstable but the

cloaed-loop syatem iz stable.

fc) PBoth open-lovp and closed-loop systems
are unstable.

{d) Both open-loop and closed-loop systems

are stable.

www.studentsuvidha.in
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48.  Consider the fullowing driving point {51. What is ihc generalized Maxwell's oqualion
immittance functions : —_ 2D
) Vx H = Je + = for frec space ?
Ks(s%+6) ot
-1, #al = = 2”2 y
+ & " —
s shed) (a) Vx & =0
B o8 ==
B 205} = (= I-43S + Bs) by V=T = Je
(3s* +6s?) _ 55.
fe) VxH = I
3 ) = Kis? L a) (2 + o
T sl e W} vxH =D
2 2 . J -
4. #ia) = Kis "’:”{5‘ +49) 62. Which one of the tollowing is a frequency
s(s” +6) sensitive bridge ?
Which of these are LC  immittance ta)  De-Sauly bridge
lunctiong 7 (b} Echering bridge
(e} 1 and (e} Wien's bridge
(L A3 and 4 '.l."] MEH..'-L’B“’S. bndge
) 2 and i
53 Foot locus of aiz 4 2} + Kiz + 4} - 0 iz a
(d) 4 enly circle. What are the co-ordinates of the centre
of this circle ? :
4% For which oné of the following materials, is ! (a) -2, 0
the Hall coeffacient zarn @ (bl -3, 0
{a) Insulator €} -4, 0
(hl  Intrinsic semiconducto; ) -5, 0
()  Metal
64. In a ithree-phase, balanced. delta connected
(d} Non-metal system, each phase -voliage contains &
fundamental, a third harmonic and a Hith
_ harmonic of RMS values : 100 V. 30 V and
0. Which vne ol the following describes corractly 20 ¥V respectively. What is the RMS value of
the cffect of adding a zero Lo the system ? the line-to-line voltage 7 .
ta)  System becomes oscillatory (a) ﬁuuz + 302 + 202
(bl Roat loeus shifts towared imaginary axis _—
: (b 3 x 1007 + 202 + 202
e} Relaiive  Stobility aof  the  svatemn
inercases (c I'l{}[‘.iz + o2
(d} Operating range of K for stable T
operation deereases d) 3 x Y100° + 20
Q-FTF-J-FFA

(10 — Ay
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How much current must flow in a loop of
“yradius 1'm to produce a magnetic field of
1 mAm ™ ?

{a}) 10 mA
{b) 15 mA
¢l 20 mhA
Ad) 25 mA
What 5 represented by  stale  transition

malrix of & system 7

(a) ~Frec responsc _
(bl Impulse response
fe)

Step rezpanse

(i} Forced response

Y,
1le AP a2
‘Elé YE§ Em ¥1
1’2 a 2

IFor the z-port network as shown above, what
is the vaiue of Y., parameter ?

55. Mapgnetic field inlensity i3 oB.
H =34, + Tyd, + 2x5, A/m.
What is the cun’en‘t-densit:,r J Aim? 7
{a) —ZEV
(b) —7ia,
(e} 3aEy
(d} 12a
T 59.
86. LConsidaer tha following statemoents
1. Bandwidth iz increased.
2, Peak overshoot in the step response 1z
increased. ' )
Which of ti-:e:-:e are the effects of uzing lead
compensation in a feedback system ?
faj 1 ﬂIl]}jo.-' Iﬁ'ﬂ
{h) 2 only
fch ) Both 1 and 2
{d} Neither 1 nor 2
7. lf-t'he bandwidth of an nacilloacope ia giverd
as direct current to G MH=z, what is thé
faslest rise time a sine wave can have to
ho produced accaratcly by the oscilloscupe ?
[;1) Y]. T+ Y3
{a) 35 nsec
| ® gy -Y,
by 10 nsec '
. fc) Em Tg
e} 38 nuec .
(d ¥, +¥, +g
(dl 0033 nsec
O-FTF-J-FFA 11 — A

www.studentsuvidha.in



studentsuvidha.in/
studentsuvidha.in/
studentsuvidha.in/

61. F—rrr— 83.  R(s) T 1 :
K
. R ¥ (L) . .
Vi) § e What i1z Lhe transier function EE of the
' . R(Z)
: sarnpted data system as shown ghove 7
1_e-T
@y Hze )
For ithe above shown networl, the funetion {Z—e™ )
vV {s . -T
Gis) = = is — As when R is k) Z-e"")
Vi{s] =% & 15 + 20 (l—ﬁ_T}
2 nhm, What is the value of I und C 7 T
' (1—2e "3
e) T
e™" &)
{a) 0-3H and 1F . :
' (1~ 2Ze T
| | CIR
{b 04 and O5F 17— 1)
ic] 05 and -1 ¥
. ' G, 0
¢d) 06T1 and 001 T ‘:) 2
. _ + +
I + +
’ + +
62, The system matrix of a linear time fmvamant + +
continuas time gyalem is given by + *
0 : _ + + +
A= . What 15 -the characteristic + + +
—1 -h
: A gircular loop placed perpendicular to a

equation ? uniformn sinuecidal  magnetic  field  of

frequency = is revolved aboul wn  axis

fal 4 53 +3=20 ' through its diameter st an angular velocity
: A g radizsec (w, < ) as shown in the figure
h) s2_3a—5§5=0 al:ove. What are the frequencies for the e.m.f.
induced in the loop ?
z —
el s+ 3m+5=0 . (0) @ end w,
{(dy s21=s+2=0 ' (b) vy, wy + o and o,
(e} <o, wy — g, and  w,
{d) ;- i, and w; + m,

O-FTF-J.FFA : (12 - A )
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65.

4 C3
+ vy o
V. [t} 2 rp= v
1 A0 e P

Consider Lthe following with respect to the
above cirouit ;

1. The transfer function of the arcuit is
10 .

s+10°
2. IF V,(t) = 20, V,it) =20 (1—e !0
5. II'V,{L) = 20 sin 104,

2000
{s+ 100 (sZ + 1000

V,(s} =

Which of these isfare correct 7
{ay 1 anly
by 1 apnd 2

{c) 1, 2and?s

(d} 2 only
66. Whal is the initial slope of Rode magnitude
plot of a type-2 sysiem 7
{ay — 20 dbidecade
{b} + 20 db/decade I
el — 40 db/idecadc
{d) + 40 dh/decade
O-FTF-J-FFA
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B67.

65,

69,

[13 — A}

In free space
E(Z, t} = 120 % cos (wt ~ P2} &_ Ym™,

What is the average power in Wm 2 ?
{a} 30ma,
(b) 60 &,

(e) 90w &,

d) 120= =,

What iz the current through the 24
resialance for the circuit as shown above ?

fa) S5 A
(b} 4 A
fc] 3A
) 2 A

The open-teop transfer function of a aystem
hes one pole in the right half of s-plane. If
the system is to be closed loop stable, then
(=1 +j0} peint should hawve
cncirclements in the GH-plane ?

how many

fa) -2
(k)] -1
I{::J + 1
(dy +2
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Consider the following statementas in|72. A 100 kV, 50 Ha supply is fed to a rectitier

connection with cylindrcal waveguides : ammeter (using a bridge reciifier) through a

1. At low frequency the propagation| - capacitor. The PMMC ammeter of the rectifier
constant iz real and wave does not instrument reads 45 x 102 Amp. What is the

rate. . * ' i
propagate . value of the capacitor 7

At intermediate frequency the |-

propagation eonstant iz zers and wave
cuts off, ~ fa) 1590 x 1071 F

At high frequency  the  propagaiion
constant is  imaginary and wave:
propagates.

(b} 1580 10-12 F

o . te) 1766 % 107 F
At transition  condition the eut-off _ .

[requency ie inversely proportionsl to 11
the eigen volues of the Bessel funetion - Ay 1786 % 1077 B
for the respective TE  meode.

Which of the sbove statements isfare corroct 7
{a) 1,2 and 3

2 only
fe] 2 and 3 only

2, 3and 4

A mechameal system ia as shown in the
figure above. The system iz set into motion
.,_,]-I-C - by applving a unil impulse force §{t).
> Azzuming that the system is initially at rest
and ignoring friction, what iz the
displacement x(t) of maas ? -

For the circutt a5 shown above, what are fhe
values of the Northn's equivalent current and 1
cmductance between AR terminala ? (al J exp (-m . t)

(a)

O-FTF-J-FFA _ (18 — A ]
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74.

O-FTF-J.FFA

s
7, Zs
L
- +
20 /30° volts (~) Zy o)
Fig. fa)
Z Z
¥
+
G‘!‘D 2y @ 1590" volis
Fig. (b
For the circuit as shown in Fig. (a), the
current through the ammeter is
4 -45° Amps:. Whal i3 the current in the
ammeter for the circuit in Fagz (bl ?
fa) 3.2 15° Ampa
fb) 2 2 30° Anipa
(e 4245 Ampe
(d} 5.2 —-90" Amps
(15 — A

The electrie field of a uniform plane wave is
given hy .

E =20 sin (3r > 10° ¢ — @), +

10 cos (31 % 10° t - ®7) Ay Ym

What is the corresponding magnetie field H 7

10 ! =
{a} —— sin{3m = 01 -nZda,, +
YT B Y
14 _
—— ena (3 *{_J‘lat—nZ [—a }Am_l
arr ¢ ) By
X0 , ; 5 —
(b) —— sind{dtx 10¥t —nd){-ay,) +
a1
10 4 (37 x 1051 — nZ) {—f.,) Am™?
277 X

14 . E =
v ——ain {3 x 100t —n¥ha, +
oSy ¥

% cos (3 ¢ 1094 — n7Z) (EXJ A

10 & . —
id —— sin (3T 10Y 6 — A (-3 ) +
bz Y

—E}- cos 3 » 105 L - 22 {HX} Am-t
377
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Consider the following statements :

In a Hall effect experiment, the sign of Hall
viltage will change if

Which one of the following Lleck diagrams is 1 Direction of applied field is changed.

comvalent to  the above shown block .

diagram ? 2. Ihrection of applied magnetic feld is
changod, '

() R

3. Direction of beth applied electric al
magnetic fields are changed.

4.  Ddrection of current is changed.

Which of the above statements isfare

{b) correct 7
{a) 1,2 and s
{b) 3 only
. {cy 1, Zand4
{c)
(d) 3 andAd
4. Consider  the following  statements  in
| connecilon with electromagnetic waves -
’-
(d) R t?é‘ £ . : | 1 Conducting mediom hehaves ke an
open circuit te the electraomagnetic field
1/GR-—C -
2. At radio and microwave frequencies the
relaxation time is much less than the
?"i’. J‘;’;‘;’ I A S 7 | porioad. '
[\ 3. In loss-less dielectric the relexation time
iov “j:r* <50 (t)sa | is infinite.
' 1. Intrinsic impedanee of a perfect diclectric
maedium s a pure resistance.
What is the voltage across the current source Which of the above slatements isfare
for the above shown circuit ? correcl 7
{ay 50V {a} 1 only
{hy 75V ' " fbr 1l and 2 only
(el 125 W - {¢] 2 pnd 3 only
{dy 175V ' (dy 2, 3and 4
O-FTF-J-FFA {16 — A
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80. R — %O a1, R 10
2A
7] ¥
L H | () ool ﬂé zoly
The above shown feedback eomtrol system
has to be reduced to equivalent wunity
feedback system. Which one of the following What i the value of 1 for the above shown
is onuivalent ? circuit, 1f' V = 2 wolts 7
{ay 2A
3 »
(@ R & O/ GH—T>C by 4A
k) A :
(d) S A
82. In semiconducter strain gauges, what
b happens when a tengile strain is applied ?
)
{a) Hesistance inercases in  M-type of
materials
{b} Resistance increases in P-type of
mnateriala
(r} Resistance increases 1n both P and
N-type of materials
o nofFg C
: {d} Resistance decreases in both P oand
| N-type of materials
#%. For intrinsic {(GaA=s, the room-femporature
slactrical conduoetivity 1s 1079 (ohm-m ¥, the
electron and heole mokilitics are, respectively,
. 0-85 and 0-04 m*V-s. Whal is the intrinsic
carricr euncentration n, at  the room
temperature ? )
(a) 10%1 m~
{b) 10720 m3
() T-0x10v12 @8
) 70x 10729 m?
O-FTE-1-FFA . [ 17 - A}
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B4,

B,

86,

8i.

O-FTF-J-FFA -

A second order system has a  nualursl |88.
frequency of oscillations of 3 radfase and
damping ratio of -5. Whal are the values of
resonant frequency and resonant peak of the
sysiem 7 '
{(a} 15 radfsec and 1-16
{h) 1-18 rad/sec and 1-5
i) 116 radfzsec and 2-1
(di 21 radisce and 1-16
A trapsmission line of characteristie "
impe:dance of 50 ohm is terminated by a load 89,
impedanee of (I5 — j20) ohm. What 8 the
normalized load impedance ?
(a} 06 —jO8
(b} O3 —3i086
fe) 03 —j04
(d) 03 +j04
The response of an initially relaxed, linecar
constant-parameter network to a unit impulsce
applied At t = 0 is 482 u(t). What iz the
response  af  thiz network to unit slep
function ¥ '
{a} 2(L—euii)
(h)  4ta — &2y ety
ey  =min 2t
(d) (L~ 4e™%) n(t)

4

[ T A i al.

" . EBesistive U
B( ) v (D1
- Melwork
L _
ln the above shown circuit, if V = 3 volta for
E=1volt, ] s0;and V=2Zvoltsfor I =% A
and E = 0. When E = 1 volt and I is replaced
by a resistor of 2 ohm, then what ia the value
of V ? '
(2} 2 valts
by 4 volts
o] 6 volls
{d} 8 volts
i 18 - A |

For a cortain thermistor, the malérial
constant {f}) is 3000 kelvin and its resistance
at 2¥°C iz 1050 ohm. What iz the
temperature coefficient of resistences for this

" thermaislor 7

(2
(b3

0-023 x 142 shm/ohm/~C
— 0-033 ochmv/ohm/o0

fc} - 333 shm/ohm/C

() - 30 ohmfohm/*C

Consider the following statements :

I. A system 18 said to be stable if its
output is bounded for any ioput.

2. A system is stable if all the roots of the
characteristic equation lie in the lefi
hall of ihie s-plane,

4. © A system is stable if all the roots of the
characteristic equation have negative
reg! parts.

4. y second order system is always stable
for finite positive values of open loop
Eadn.

Which of the above slalements isfare correct 7

fal 2,3 and 4
{hy 1 anly
{¢) 2 and 3 only
{(d) 3 and 4 only

I 3

—r—r"'/o——wwv—
580
+‘_-._
5V_—

&-1H

The network shown above is initially at rest.
What iz the initial current 1 when the switch
Sisclosed at t=0 2

fal OA
(bl B A
(¢} 10 A
{d) 20 A

www.studentsuvidha.in
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91. . 92, The open loop transfer function of a closed

Ioop eontrol system iz given as :

N .
(9 —_ % 2% line A Gis}His} = Kis+2) =. What are the
Csls+ (s +4)

aumber of asvmptotes and the centroid of the

asymptates of the root-loci of closed lcap

system 7

: (7
O NN e 5 °)
+ by -2, (2,®
e Z/2 lineB _
- @ 3 ('?T ﬂ]
<>

Two loss-bess realstive transmission lines

each of characteristic impedance Z are

93.
connecled as shewn in the circuits above, If

e
the maximum voltage on the two imes 1:] the |
. same and the power tranzmitied by hne A 1 ?

Wl, then what is the power transmitied by

T?—Imr “

the ipe B 7

The eirewit as shown above is in the steady

i 4 W )
a) 1 atate. The switch 5 ia closed st £ = 0. What
are the values of v and dv at t = 0* 7
b 3W, dt
i) 2 Wl . {a) Oandd
) b) 4 and O
fdl 1 W
' fe} Zand O
o ' (d) 0 and 2

O-FTF-J-FFA 118 - A
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94. The transfor funetivn of a vphaselead [96. Consider the following statements :
compensator is given by ' ) _
1. A phase lead network provides a positive
r[- _ . . -
Gts) = 1+3Ts where T > 0. What is the phgs«e angle over the frequency rangd of
. mtereat.,

i hi i b ' -
raximum r:? it provided y such a 2. Armaturc controalled d.c. zervo motor is
compensatar inherently a closed-loop system.
fa)  9O° _ 3, Phase lag network provides significant

' amplification over the frequency range of
vy @ao° - interest. .
. 4 Trangfer fumetions with zerces in the
(c) 45 right half of s-plane i3 a non-rinimum
sy stem.

(dy 30° _ ; .
Wluch ot the above statemenis isfarc
correst 7
ia) 3 ﬁ;]}r

a5 by 1 and 2 only
L L I g e fcj 1’ 2 and 4
T (2] 2,3 und 4
i (Amp)
I _ a7, ' 10k
0 3 & _L>‘L; VYV
L (Sc':.a N >
+_.__-_
The ‘current waveform ae chown above, is | 20V — 20 W " 10 kQ
applied in a pure resistor o7 10 Q. What ia
_the power dissipated in the resistor ? oo, .

The switch of above ecircuit was oapen {or

(a) 270 W : long, and at v = 0 it iz closed. What iz the
finul steady state volluge acrass  the

(b} 135 W capacitor and the timec-constani of the
cireuit ?

K}y BZW @) OV and 01 sec

20 3 d O
Wl TW 1 | (h] BY and (2 sec
(cy 10V and 072 zec .
o : I ' (d) 10V apd 01 sec
| O-FTF-J-FFA [ 20 — A }
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48. A linear syastem ie described by the following | 100,
glate cquationy
i -2 2|
Xith= X+ Y
1 -3 0
Yit)=[0 231X
Whal s the transfer funetion of the avstem 7
(o) T—‘—'—"
8 +¥=+3
(b)) i
+35+2
5] "L01.
G
{eh .
59 4925+ 3
i
id: gy
8° +3s+ 2
%9, A transmission Lne section shows an npuat
immpedance of 36 Q and B84 (O respectively,
when short circuited and npﬁn cirenitad. What
is  the characteristic impedance of the
transmission line 7
102,
(a) 100 &2
(b)Y B0 £
ey 45 0
id] 43 Q
Q-FTF-J-FFA {21 - A

www. studentsuvidha.in

The poles and zerses of an all-pass network
are’ located in which part of the s-plane ?

{a) Poles and zeroes are in the right halt of
s-planc

{(b). Poles and zerves.are in the left half of
s-plurne

(e} - TPoles i the right half and zeroes 1n the
left haif of s-plane :

(2} Poles in the left half and zeroes in the

vight half of 3-plane

When a transfer funciion model is converted
into. stile gpace model, the order of the
swstent may he reduced during which anc nf
the fullowing conditions ?

{2}  Some of the variables arc not considered

{b} Some of the variables are hidden

(e} Pole, zero cancellation takes place

{d) The order of the system ‘:P?i" ncver get
changed -

How can the power aupplied Lo a2 high

frequency heating syslem be meagured ?

ta) By dynamometer watimeter

ib} DBy induclion wattimeler

{e] By thermocouple iype waltmeter

{d) By mowving iron amr.neter and voltmeter
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103, In an RLC series resgpant circuit, if the | 108.
mavimum stored energy is indréased hy
9% oand al the same time the enersy
dissipated per cycle is reduced by 10%, it
wiil result in which one of the following ?
(a) An 119 decrease in quality factor
th) An increasc in the resonant frequency
by 11%

{e] A 22% increase in quality factor

{d} A deccrease in the resonant frequency by
22%

I 104, If D iz the rotor diameter and 1., the axial
length, then a  high  perfermance a.c.
servomaotor is characterized by which one of

. 10,
the following ?
{al Targe D and Large L
(b} Large D and Small L
(c) Small D and Small L
(d) Small D and Large L
16k, Why is the network function,
3 r
- Nis) = — : +235 mat positive real 7
s +48° +4
ta} The bighest depree of numerator and
denominator polynomials differ by one
(b} The terms of the lowest degree in the |ypg.
nureerator and denominator
polynomiala differ in degree by one
(e} The poles amd zeroes have zero real
" parts
{d) 1t has muitiple poles on the imaginary
axis ' '
O-FTF-J-FFA { 232 - A

Consider the following statements .with
reference to hydraulic systemas :

1, A small size actuator can develop a very
larye foree or torque.

2. A source with supply and reture line is

required,

a. It is insensitive to temperature changes.

Which of the above statements is/are
correrct
{a) 1 only
ib] 2 only
{e} . land 2
{(d) 2and 3
2 1
oA ATV p—
Z(s) —> 1== i 1=

The netwsrk realization of RC impedance
2
+3
Z{E} = i?'fﬂ?m
(=% + 3z + 3
above, What are the values of oo and g ?

function, i &5 shown

(a) 1 and 2
{(b) 2and1
{¢c] 2and3
{d} 2 and 2

Which an of the following iz nof the criterion
nsed to sclert potenliometer in o gontrol

system 7

fa} Accuracy

(b} Noise

(e}  Time re.spﬂnse

{d)

Frequency response

Www.students_tjvidha.in
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109, . 24 iy ' ill. Aaa&rtiﬁn fA): A capacitor has one pole at
T Iy T 5 = infinity and one zerc al
v, - V, _ 8 = 0, where 5 = jip, w is the
! angular frequency.
If the Z-parameters for the T-network as ' Reas;m. (F) The driving point
shawn above are Z;, = 40 02, Z,, = 50 0 impedance of a capacitor is
and Z;p = Zpy = 30 £, then what ave the i
values of 2,, %, and Z; ? | Se -
(a) 109,200 and 300 112, Asgsertion (4): To increase the range of an
(hy 200,30 0 and 20 G -mmeter to measure high

) 306,400 and 100 ' _ currents, it 15 required to

fdy 40, 5O D and 10 £ connect a high resistor in

. shunt acrozs the ammeter.
Directions : Each of the next eloven {11) items

congists of fBwo stotements, one [ebelled as the
‘Asgeriion (A) and the other as Reasen (BY You arc _ FReason R _ The shunt resiztor will
lo examine these two statements carefuily and select

. o . divert the excess current
the onsmuers to Ehese {tems wsing the codes given I

Gelow . and allow only the raled
Codes ; ' current ta pass throuwgh -

R iz the correct explanation of A

(b} PBoth A and R are individusally teue bui R
is nof the correct explanation of A

the ammeter,

{e) A is Lrue but R is false 118. Assertion (AJ:  'The sensitivity of a
() A s false but R is true voltmeter is often

expressed in terms of

110. Axsertion f4): The semiconductor maternal ohma-per-volt.
psed in making an optical
source should be a direet Reason (R) - High sensitivity voltmeters
bandgap material. use a  basic d’Arsonval
Reason (R) : Carrier recombination time is| . meter which has high
shorter in a direct bandgap Bensitivity.
semiconductor. -

O FTF J-FFA {23 - A
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114, Aszerfion (A} :

Reason (R -

115. Assericon {4) ;

Regsoan (1) -

116. Asseriion (A):

feazon (K} -

O-FTF-J-FFA

Nowy N o)

gvnehromzaes  Lhe

In a brdge fypc  of
mefIurament, it i
raquired that the indicator
need to show the halance
of the

condition bridgc

should  have wvery high

senstivity.

The accuraey  of  the
null-indicator docs pot play
mny role in a’ bridge

measurement.

An  electronic
millivelemeter used to read

very lew a.c. vollages at

high freguencics iz an

amplifier-reclifier tyvpe of

meter.

The dicdes ecannot rectify
vollages  of

millivel prder.,

kleciron besm  switch is

ured in s multitrace CRO,

Electron  beam  switeh
input
ﬁignal'aﬁd gived a steady
vravelorm on the CRO

HSCresn.

V24 - A

117,

118.

.,v.‘.l-

T20.

Assertion (A} :

Heoason (1) -

Agvertion (Al :

Heason {‘R_) :

ABserfior (A}

Reasem, {R) :

Assertion (4) »

Beauon (R} .

www.studentsuvidha.in

. Random

“effect

errors  can  be
ninimized by statistical

methaods,

These are caused by

arithmetie  ecrror  while

taking readings.

The stator windings of - a

contral  transformer has
bhigher  impedance per
phase,

The roter of a control

transformer iz cylindrical

in shni)e.

Addition of a pole to the

forward path - wansfor

. function of unity Tecdback

system incrcases the rise

timc of step response.

- The additional pole has the

of  increasing the

" bandwidth of the system.

-

Krowing magnetic vector

. —*
poteniial A ai a poing, the

&
 Mlux density B oat that

paint can be obtained.

- —
V.A=0

_'—_
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1. Consider the following tests :

i. Load test

2. Short circuit test
3. OC test

4. Retardation test

Which of the above tests are to be con-
ducted for the deterrminationn of voltage
regulation of a transformer ?

(a) 1 only

(bl 2 only

{c) 2apd 3

(d) Jand 4

. & three phase 50 Hz, 11 kV and37-5 MW
at 09 p.f. capacity synchronous generator
has its stator bore diameter of 765 cm and

an axial core length of 80 cm. For which
power plant Lhis generator is suitabie?

(a) Thermal coal fired plant
(b) Hydroelectric power plant
{c} Nugclear power plant

(d) Pumped storagz power plant

3. A rwansistor has a2 maximum power

dissipation limit of 300 mW for ambient
termperature up 1o 25°C, If the maximum
allowable junction emperature is 175°C,
. then what is the lirmt of the device in an

ambient temperature of 55°C 7

4. Which stack 15 used in 3085 micro-

processors ?
{ay FIFO
(k) FILO
(cy LIFO
(d) L1LO

. An angle modulated signal is described

by the equation

x () =10 cos|2xf ¢ + 10 sin{4000m 1) + .
5 gin 2000m1]

What 15 the barndwidth of this modu-
lated signal ? '

(a; 6rHz

thy 45 WHz
{¢) 54 kH=z
{d) 63 kHz

. If the turm on and tum off energy losses

in a transmitter are 51 mJ and 76-8 mJf
respectively and the mean power loss is
limited to 200 W, what is the maximumn
switching rate that can be achieved 7

(a) 15649 cycles/s
by 15649 cycles/s,
(©) 15640 eyclesis

S (d) 15649 cyclests

. The antenna cwrent of an A.M. trans-

mitter is 8 A when only carrier is sent,
but it Increases to 8-93 A when the
carrier ix modulated. Then what is the
percentage modulation of the wave 7

(@) 120 mW |
(@) 43-00%
(b) 240mW () 70-14%
(c) 300 mW o (¢} 57-00%
{d) 360 MW . I {(d) i 1N0-00%
O-FTF-J-FFB - A 2
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112
A —
152
D
10V 2 Dy 15A
T oY e B
What are the states of the three ideal
diodes in the circuit as shown above 7
D, Dy b,
(a) On Off Off
by Oif On Off
{c) On Off - On
(d) Off On On
Number of thyristors, each with a rarll;;

of 300V, 75 A, required in each branch
of a series-paraliel combination for a
circuit with a tota! voltage and curient
ratings of 7-5 kV and | kA respectively.
If the device derating factor is 14%, then
what is the number of thyristors in series
and parallel brainch respectivaly ?

Mo of thyristors
in series branch

Ne of thyristors
in parallel branch

@ 18 16
{b) 15 14
(©) 2 1
(d} 16 ' 18

-

3

10, Where is the draft tabe of a hydropower

11.

12.

13.

station that is an airtight pipe located ?
{a)
(b

Near the surge tank

In between the penstock and the
runner

©

In bepween the rummer exhaust and
the tailrace

(d) At the beginning of penstock

An FM. signat which is modulated by a
4 kHz sine wave reaches a maximum
frequency of 100-01 MHz and minimum -
frequency of 99-97 MHz, then what is
the one side freguency deviation of the
signal ?

{a) 66

1) 500

() 10:0

) 200

What 1s the power transmitted induc-
tively in an awto-transformer which
supplies a fcad at 161 volts with an
applied prmary voitage of 230 volis 7

(a} 35% of the input
(b) 70% of the input
(€) 15% of the input
(d) 30% of the input

The starting current and torque of a three
phase induction motor on direct line
starting is 30 Amp and 300 Nm respec-
tively. What are the comesponding
values with star delta starter ?

(a) 10 A and 100 Nm

(b} 30 A and 300 Nm

) 1732 A and 1732 Nm
(@ 30 A and 173-3 Nin'

A - -FTF-J-FFB
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14. Consgider the following statements :

15.

HYDC ransmission is supenor to HVAC
transmission due to

1. Lack of reliable DC circuit breakers.

2. Lesser number of conductors far
SAIME .POWET CATYINE CApacity.

3. Non synchroncus link between two
different systems simplifying the
problem of voltage stability and
frequency control.

4. No costly terminal equipments such
as converters and inverters are
required.

Which of the above statements is/are
correct 7 ’

{a) 4 only

) 4 and 3
c) 1 an.d 2
{(d 2and3

Sl

'

N

The digital ' circuit as shown above
represents 1o which one of the
following ? '

(2} JK flip-flep
(0 Clocked RS flip-flop
(c) T flip-flop -

{d) Ring counter

16.

17.

18.

19.

Consider the following :
1. Sign flag
2. Trap flag
3. Parity flag
4. Auxiliary carry flag

Which of the above flags i1s/are present
in 8085 microprocessor ?

{a) 1 only

{b) 1 and 2
(c) 2and 3
(@ 1,3 and 4

Which one of the following is not a part
ol typical TV receiver 7

a) 3weep signal generator

{0) Envelope detector

{(c) Video amplifier

{d} Pre-emphasis cireuit

The ancde current through & conducting
SCR is 10 A, If its gate current is tade

one-fourth, then what will be the ancds
current 7

@) DA
by A
©) l0A
(dy 20A
What is the power transferred conduc-
tively from primary to secondary of an

auto-transformer having transformation
ratio of 0-8 supplying a load of 3 kW ?

(2} {6KkW
(by 2-4kW
) 15kW
(dy 027 kW

- D-'FTF-J-FFB -A -4
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20. Consider the following statements con-

21.

cerning steam power plants :

1. Maintenance and operaling costs
- are low. : '

2, Water is required in huge quantity.
3. Reguires long time for installation.

4. Handling of coal and disposal of
ash can be done easily.

Which of the azbove statements izfare
corrcct 7

(a) 1 only
{(by 2 and3
(¢) 3 only
fdy 3 and 4

I ko2
Ay
T
L3 sin &t () 4 1ka2
ar = 314 radrs I l '

The cut-in volwage of zener dicde D, and
diode D shown in-the figure above is
1-7'Y. Breakdown voltage of D, is 33V
and reverse breakdown voltage of D is
J0-V. The other parameters can be
assumed to be the same as thase of an
ideal diode. Then what are the values of
the peak output voltage V, 7

Positive Half  Negative Half

cycle in V cycle in V
{a) 33 - 1-4
® 4 5
() 33 33
{d) 4 ' .4'

www.studentsuvidha.in

22,

Consider the following statements :

In 8085 microprocessor, data-bus and
address-bus are multiplexed in order to

1. Increase the speed of micropro-
CRESOT.

2. Reduce the number of pins.

3. Connect more peripheral chips.

Which of the above statements isfare
cormrect 7

(a) ] only
(B 2 ealy
cy Z2and 3

{d) 1,2 and 3

. In a power circuit of 3 kV, four thyristors

each of rating 800V are connected in
series. What is the percentage series
derating factor 7

(a) 50
®) 25

@) 125
) 625

What is the core loss in a high frequency
ferrite core transformer uged in SMPS

. power supply ?

(a) 10% of ratéd power
{b) 5% of raied power
{3 2% of rated power

{ﬂ) 1% of rated power

A - O-FTF-J-FFB
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25. Which one of the following is consi-
derad as an A.M. signal ?

(a) Binary phase shift keying (BPSK)

) Differen[iﬁl
{DPSK)

phase shift keying

(c) Differential encoded PSK

{dy Quadrature FSK

26. For 16 it address-bus, if an 8K RAM
chip is selected when, A 4, A, and A
address bits are all one, then what 13 the
runge of the memory address ?

{a)y EOOQOH — EFFFH
{by EOOOH - FFFFH
{c) FOOQH — FFFFH

(dy FGOOH - FEEEH

27,

Which one of thie following is the correct
outpui { f ) of the above circuit 7

(ay (a+ b)(c.‘ + t_f)
(v) (@+B)c+d)
@ {arBe+3)

@) (a+b)a+d)

O-FTF-J-FFB - A

6

.30,

28. The making and- breaking currents of
3 phase ac circuit breakers in power -
system are respectively in what form 7

{a} r.m.s. value, rm.s. value
b
(b} insmtaneous value, rm.s. value
- {e) rm.s. value

{d) instantanzous value, mstanianeous

value

29. A three phase 6 pole 30 Hz induction
motor 1§ Tunuing at 5% ship. What s the
speed of the molor ?

(a) &850 rpm
(hy 900 Tpm
{c}y 930 rpm
(d) 1000Q.rpm

R Xoi
Ay T

— o —

Ar which condition of the transformer
the equivalent circuit will be as shnwn in
- the above figure ?

T (a) Under short cireuit
{b} Under open circuit

(¢) TUnder na load

fdy Under rated [cad

www.studentsuvidha.in
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n.

32.

33

What is the nominal pH value of water
that 1s o be maintained in a steam
raising thermal power station ?

(a) 00
(b)
(c)} B85
(d)

703

14-3
Consider the following statements about
a Tunnel diode :

1. Tunnelhng takes place at a speed
decided by junction temperature.

2. Concentration of tmpurities is of
the order of 1 part in 107

3. Both runnelling curent and notral
pn junction injection cuiment exXist.

4. Tunnel diode exhibits current con-
trolled negative resistance. charac
teristic, only.

Which of the above statemeni is/are
Correct 7

{a) 1 only

(b) 1 and 2

{cy 2 and 3

{d} 3 and 4

In an instuction of 8085 micropro-
cessor, how many bytes are present ?

fa) One or two

- {h) Dnc,l two or three

{c) Onc only

~(d} Two or threc

T

34. Which onc of the following factors is

35

36,

lirnited in case of EM. .7
(a}
&)

Maximum frequency deviation

Mauximum permissible modulation
index

{c)
(d)

Signal o noise voltage ratio
Minimum permissible modulation
index '

Consider the following statements, with
respect to the powar transistors used in
inverters :

I. Maximum collector-emitrer voltage
VcEa.

2. Maximuem collector current.
. Moximom power dissipation.

Maxmnum cutrent gain at mini-
mum load current.

. 3. Maximum current gain at maxi-
mum load current.

Which of the above statements is/are
correct ?

(¢} lonly
() 1,2,3und 5
{¢) 2 and 3 only
{d) 2,3 and 4

When will a slip ring induction motor
run 2t super synchronous speed ?

a} If a voltage is injected in the rotor
. circuit in phasc opposition to the
rator induced emf

{b)

If an emf is injected in the rotor
circuit in phase with the rotor
induced emf

(c}
(d)

If motor is coupled with active load

If motor is coupled with passive
load

A - O-FTF-J-FFB
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37. Consider the following statemnents .

1. Present day surge diverters use non-
 lintear resistance €lements.

. A traveliing wave is usually repre-
sented as a step wave in the
analysis.

. A travelling wave suffers reflection
when it reaches a discontinuity.

. The function {f(vx£¢)) represents
a travelling wave. .

Which of the above statements isfare
correct 7 -

(a) 1 only

(@) | and 2 only
¢}y 1,2 and 3
(d) 3 and 4 only

7

AL HL
' - jT—

If X, and X, are the inputs to the circuit
as shown in the above figure, then what
is the output () ?

(@) (X +X,)
) (X,-X;)
€ (XX}

) (X *x3)

39, To address the merﬁaﬁr 14 bits are used.

Thert what is the address of the last
memory location ?

(a) 16382
(by 16383
{c) 16384
(dy 16385

Which one.of the following modulation
technique 1s most affected by noise ?

fa) ASK
(>3] PSK
{ey FSK
fd) MSK

. For elirmination of 5th harmonics from

the ousput of an inverter, what will be
the position of pulse in a PWM

‘inverier 7

(@ 72°

) 36

(c) 60°
) 90°

i

At which condition of mc'transfnnnc:.r
the equivalent circuit will be as shown

above 7

{a) Under short circuit

() Under rated load

{c} Under upe.n circut

(d) YUnder load and no load . -

' O-FTF-J-FFB - A 8
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43. Complete combustion of pulverized coal 45. Match List | with List II and select the

in a steam raising thermal power plant is comect answer using the code gwen
ensured by what type of an analysis of below the Lists :
flue gas going out by the chimney ?
) List 1 List 11
{fnstruction * {Addressing
{a) Q. content for given air intake -code) mode)

- A JUMP202] H 1. Direct

(b) CO, content for given fuel rate feed addressing
' B.LDAX B ‘
(c} CO content Z. ]mmf’dlfm
C.IN 104 _ addressing
(d) Al of the above ° , 3. Indirect
D.RLC Register
addressing
| 44, ~ ) 4. Tmplicit
' 1 _ addressing
Fim iR ¢ § 4542 - Code -
w =114 rad/s
A B C€ D
{(a) 4 3 1 2
The forward resistance of the diode (k) 2 3 i 4
shown in the above circuit is 5 ohms,
and the other parameters are same 25 € 4 1 3 2
those of an ideal dinde, Then what is the ) 2 I 3 4
d.c. component of the source cament 7
) L3 . 46. Two MOSFETS M, and M, are connee-
(@ 507 ) ted in parallel to carry a total current of
20 A. The drain to source voliage of M,
is 2-3 ¥V and that of M, is 3 V. What are
&) V. , the drain currents of M| and M, when
5072 the current sharing series resistances are
each of 0.5 2 ?
o v, : (a) 10-S A and 9-5 A
c
10072 : () 95 A and 105 A
(cy 10-5A and 105 A
5 e
@) S5O0 o (d) 95A and 95 A

| 9 A - O-FTF-J-FFB
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47,

4B.

49,

50.

If an FM wave 15 represented by the
equation e = 10 sin (9 x 108 + 4 sin 1500 5,
then what is the carrier frequency ?

(a) 127-32 MHz
(b 150-00 MHz
(c) 143-31 MHz
{(dy 208-00 MH=z

Tna single phase VI bridge inverter, the

load current is 7, = 200 sin(@f— 45%)mA.
The d.c. supply voltage is 220 V. What is
the power drawn from the supply 7

{a) 98W

by 198W

() 27-25W

(d). 34.03W

Which one of the following i

disadvantage of digital transmission as
compared to analog transmission !

(a) Digital signals cannot be nmlii-
plexed effnciently

(b) Digital transmission is Jess immune
to channel noise

(c) Digital stgnals uceds to be coded
before (ranzmission

{dy Dheital transmission needs more
bandwidth

What are the number of memories
required of sizc 16x4 to design a
memory of size 64 x B ?

{8) 2
by 4
) &
{d) 8

{)-FTF-1-FFB - A

52.

For the above circuit what will be the
output for the sinuseidal input shown at
the input terminal ? :

(a)
/“\/\
[
i -

vﬂlﬂf

™%

"/ J
@ '
Vout
-
¢
(d)
Vnw*
—
Lt

A saliemt pole synchronous generator
delivering powecr to an infinite bus
through a reactive tie line reaches its
steady state stability limit. What is the
power angle of the generator relative to
the infinitc bus voltage reference 7

{a) Greater than 90 degrees

(b Equal to 90 degrees

(c) Less than 90 degrees

(d) Zero

www.studentsuvidha.in
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53. The starting current of an induction
motor 13 5 times the full-load current
while the full-lead slip is 4%. What ‘is
the ratio of starting Lorque to full-load
torque ?

(@ 06
(b) 08
" fe) 10
(dy 12

%4, Consider the following statements :

EMF induced per phase in an alternator
depends on
Fl:r:quenc}r
2 Number of turns per phasr:
3. Pitch factor
4. Distribution factor

Which of the zhove statemnents is/fare
comrect 7

{a) 1 only

() 1,2, 3 and 4

() 2 and 3 only

{d} 3 and 4 only
35. Consider the fo]inwing statements
regarding the pumped storags plants :

1. A pumped slorage plant & 1 peak

load plant.
- 2. The starting time of a pumped
storage plant is very long.
3. Reversible pubines and pumps are
very suitable for pumped storage
plants.

4, Pumped storage planis can be used
- for {oad frequency control.

Which of the above smtements isfare
cormect 7

(ay 1.only

{b) "1 and 2 only-
€)1, 3and 4
{dy 3 and 4 only

11

36,

e

.E'T'

58.

 dicdes

b)

Dy
|
L~ }
Ry
230
50 He
A.C.
0,

BOV/ 50 050w

The input veltage for the given full-
wave rectifier circuit ix 230V a.c. then
what 15 the peak inverse voltage across
D, and D, 7

100+/2 Vol
X Volis

(a}
(¢} 5042 Vol

50 Volts '+

Which one of the following addressing

technigue is #of used in 8085 micro-
processor ?

{a} Register

{b) Immediate

(¢} Register indirect

(d} Relative

An AM modulator has output

3(7) = 20 cos(300 mr) + 6 cos(320 71) +
& cos(280 m1).

Then what is the modulation index of
the wave ?

(a) More than 100%
(b} 0-93 |
) 03
@ 06

A - O-FTF-J-FFB
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59,

ol

o
[

B of a BIT varies from 15 to 65.
R, =108 V=120V and Vgz =8V
if ch,smjz 1-5 V and VEEI.’S-'JU =1-75V
then what is’ the value of Ry that will

resull in saturation with an overdrive
factor of 1007 '

(a) 7982 .
) 079 @
) 79 Q

{dy 79 k&

What s the effect ot blanking time on
output voltage . PWM inverter ?

(x) Dnsiortion in instantaneous voltage
at CUITENt Zero Grossing

{b) Low order space hwmmomcs in
ourput voltage

(¢} Distribution i instantaneous vol-
tage at voltage zero crossing

(d) High order time harmonics  in

oulput voltage

O-FTF-J-FFB — A

www.studentsuvidha.in

61, Conuider the following stalements :

The thermal runse power generdted by a
resistorn 18 propoertional to '

1. The value of the resistor,

2. The absolute 1emperaiue.

3. The bandwidth ‘over which 1t 15
measured. '

4. The Bollzmann’s constant.

Which of the chove stalements isfare
correct 7

{a) 1. 2 and 3
{b)y 2 only

fc) 2 and 3 only

@ 2,3 and 4

. Cornsider the following staietnents .

1. The output umt of a computer
communicate the response of the
computer to the nser.

2. Read/writc memory is volatile.

3. The flip-flops i a Tegister are
connccted in parallel.

Which of the above statements isfare
correct ? ' '

(a) | only
(b) 1 and 2

(c) 2and 3

(@) 3 only
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63,

64.

65.

T

in the above shown crcuil, under what
conditions the output V,, will be propor-

v,
iohal to Tif’- {with 7 = time period of
' inpat)

-+

{a) RC=T

(b RC »>T

© RC<<T

{d) Both R and C large

Transiens stability of a 3-phase power
systems having more than one synchro-
neus gencrator is not affected by which
one of the following specifications ?

{a) Initial operating conditions of gere-

ralars

(b) Quantum of large power disiur-
bance

fc)  Fast fault clearance and redo sure

(d} Small changes in sysiem {requency

Consider the following :
[. LPF method
2. EM.E miethod
3. ZP.F mathod
4, M.M.F. mcthod

Which of the above methods are correct
for determination of vollage regulation
of an alternator ?

{a) 1, 2 and 3
by 2,3 and 4

" {c) 2 and 3 only |

(d) 3 and 4 only

66. Match List T with List
cofTect answer using
belgw the Lisls :

IT and szlect the
the code given

67

68,

List 1 List 1
{Machine (Type of
Components) Machire}
A. Amortisseur 1. Squirrel cage
 winding induction mator
I3. Breather - 2. D.C. motor
C. End-Rings -3, Transformer
D. Commutatoer 4. Synchronous
, motor
Code :
A B C D
a} 2 3 1 4
B 4 3 1 2
€ 2. 1 3 4
10) 4 . 1 3 2

Che maximum demand of a consomer
is ZkW and the corresponding daily
cnergy consumpiion is 30 units. What is
the corresponditig load factor ?

fa) 25%

(b} 50%
(c} 62-5%
{d) 75%
50 42
A
+ .
Ciov 6V R

The 6% zener diode as shown n the
circuit above, has zero zener resistance

“and a knee corrent of 5 mA. Then what

i5 the minimum wvalue of B so that the

voltage across it does oot fall below
oV

(a) 1200 ohms
(b} B0 ohms
{c) 50 ohms
(d) 40 ohms

A — O-FTF-J-FFB
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691

70.

71.

72,

When the operand reguires for an
imstruction is stored inside the processor,
then what this addressing mode is-
called ?

(a) Direct

(b) Register

" {e) [mplicit

{d) Immediate

How much power will an AM trans-

mitter, rated at 50kW, radiate if it is

modulated 0 100% *

(a}) 25kW

b) SOkW

{c} TS5kW

(d) 100 kW

For an SCR, the gate cathode charac-
teristic has a straight line slope of 140,
For trigger source voltage of 20V and
allowable gate power dissipation of

Q-5 Watts, what is the gate source resist-
ance ?

(2) 200 £2
by 255 2
() l._95 2
() 185 Q2
An AC capacitor is to be switchad m
paratlet with AC line using back to back

connected thyristor. What is the firing
angle of thyristor for first switching ?

@) 0
b 180°
(¢} 907

@) 4s°

O-FTF-J-FFB - A

73

74.

A communication chammel .is to receive
signal power S5 and- the noise at the
receiver input is additive thermal noise,
with uniform power spectral density
(psd). It is found that if the bandwidth iz
1 MHz, the channef capagity is 10 Mbps.
What would be the channel capacity for
the same signal power and same noise
psd, if the bandwidth is tinlimited {tends
to be infinite) ?

(@) Zero
®) Iﬁﬁni_ce
(¢} 15 Mbps
(d) 1'S Glps

Match Tist T with List II and select the
coriect answer using the code given

"_~~ fow the Lists:

List I List II
{Microprocessor {Signals on
pin) pin) )
A. TRAFP 1. Interrupt
B. HLDA 2. Initializing
C. RESET 3. Enable
D. ALE 4, Memory
s ACCESS

Code

(ay | 2 4 3
" 3 2 4 1
© 1 4 2 3 )

@ 3 4 2 1

‘www.studentsuvidha.in
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75.

76..

Consider the following statements :

1. Only even harmonics are present in
the output. '

2. Provides more output per device for.

a given amount of distortton.

4. Core saturation of transforrmer is
avoided.

4, Power supply hum 1s absent in the
output.

Which of the above statements isfare
comrect for a push-pull amplifier ?

(a) 1 only

fb] I and 2 only
() {,2and3
(d) 2,3 and 4

Vs ix/2 7 Jx/2 ¥z
| (LTS oE

!
|
Fm |——-'f

T x

In a gansmission line, the mid-point
voltage is maintained tc ¥V by a compen-
sating device as shown i the circuit

above. What iz the rexl power flow
through the line ¥ -

fa) EE-Si“E

{b) —zjg-z—sinfi

{c) V?zsi_mﬁ‘ :

(d) z—gising

15

77,

78.

79.

What is the roter copper loss of a
3 phase 530 Volt, 50 Hz, 6 poles mduc-
tion motor developing 4-1 kW at the
shaft with mechanical loss of 750 W at
570 rpm ?

(@) 175 W
®) 150 W
(c) 100 W

(d} 250 W

In what {om the initial energy will be
released for the 200 MeV per fission by
a newiron in a slow thermal nuclear
feactor ?

(a} Heat energy
(b) Electromagnetic radiation

fc) Kinetic energy of particles and
electromagnetic radiation

{d) Kingtic and sound energy

In a certain self biased Si npn mansistor
the d.c. base voleage is 3-2 V then what
is the d.c. emitter voltage 7 (Assume the
transistor is in linear-active mode)

(2) 0TV
(b) 25V -
(c) 32V
() 39V

A - O-FTF-J-FFB
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80.

81.

82.

83.

What 15 the correct 8085 assernbly
language instruction that stores the
contents of H and L registers into the
memory locations |80 H and 1081 H
respectively 7

(a) SPHL. 1080 H

(b} SHLD 1080 H

{c) STAX 10R0H

(d} SPHL 1081 H

For which vne of the following modu-
lated signals, the original message, up to
a scaling Factor can be recovered using
cnvelope detection ?

{(a} 20 cos(200 Tty +

- 30 m(Heos(200 71}
(bY 20 cos(200 xth + :
16 mificos(200 71)
(c} 10 miricos(400 xr)

(d} 10 cas m{fcos{400 77}

An SCR is rated for 650 V PIV. What
is the voltage for which the device can

be operated tf the voliage safety facior

is27

(2) 325V rms
(M 230V rms
(¢) 459 V rms
(d) 650V rms

A-G-pulse SCR converter 15 connected
to a 230V, 3-phase. S0 Hz, ac mains
and is controlling a dc dnve with
termimal  veltage 205 voit and * rated
current of 105 Amp. The commutation
angle M = 18° and firing angle o = 45°%,
what is the rating of shunt compensator
and power factor ?

(8} 21-6 KVAR, 0-707
(h) 22-68 kVAR, 0-69
(¢) 21-6kVAR, 0-69

(d) 2268 KVAR, 0-707

O-FTF-J-FFB ~ A

34.

85.

86.

87.

"Which one of the following statements

is comect 7

The thresheld effect in demodulators is

(a) Exhibited by zall receivers when the
input SNE 15 low

(b} Exhibited omly by
receivers

(¢c) The rapid fall in ihe outpu SNR
when npot SNR falls below a
particular value

correlation

(d) The exponential rise in the output
SNR when input S5MNR is increased
above a particular value

The stack pomter of an 8083 micro-
processor s ABCDH. At the end of
execution of the scquence of instruc-
uens, what wili be the conten| of the
stack poiater 7

PUSH PSW

¥XTHL -

PUSH D

IMP FCTOIL

{a} ABCBH

{b) ABCAH

() ABCOH
(d} ABCSH

Whar 18 the matn source of distortion in
a push-pul! amplifier ?

{z2) Fundumental component

{by Second harmonic

() Third harmontc

{d) All even harmonics

Which one of the following is rediced
by using stock bridge dampers on power
overhead transmission lines ?

fa) Sag
(b} Conductor vibraiion
{fcy Line losses

(d) Mechamcal teasion

www.studentsuvidha.in
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8. A sinple phase full converter feeds

89,

power to RLE load with R=10 Q,
L.=10mH and E=30YV, the ac source
voltage is 230 V, 50 Hz. For continuous
conduction, what is the average value of
load current for firing angle delay of
a0° 7

(@) 463 A
) 6A

(€ 65A
() 535A

An 8083 microprocessor is executing the
programme as follows :

MVI A, 20H
' MVIB, 10H
BACK : NOP
ADD B
RLC
INC BACK
HLT

How many tumes the imstruction NOP
will be executed 7

{a} 4
) 3
(cy 2

d) 1

Fig-1

ia)

2 )
2 z/ > @Bf

.

o

T
I '
I
|
I
I
I
I
1
|
a T T
1
1
1
]
]
1
1

[
i
I -
T 2x
Fig-2

In the ac regulator of Fig-l, the supply
voltage and gate cuments waveforms are
as in ig-2!, wiat is the load voltage

- waveform for R=07

* 4
Wy o oT 3a

wr
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91. An amplifier without feedback, when

92.

93.

O-FTF-J-FF'B — A

fed with a 1V, 50 Hz inpat signal gives
an output of 30V, 50 Hz with a 5% 2nd
order distortion. -When 10% of the
output is fedback what is thc 2nd order
distortion ?

(@) 0315V
® 13V
) 075V

(dy 3V

Match List I with Lizst 11 and select the

correct answer using the code given
below the Lists :

List 1

List I
A. Magnetic {lux I. Siemens
density : 2. Tesla
B. Shunt admitiance
o 3. Radian
C. Anenuation
co-efficient 4. Neper
D). Phase-change
co-gfficient
Code :
A B C I
fa) 3 4 1 2
by 2 4 1 3
() 3 1 2
{dy 2 1 4 3

What iz the effect of the ficld failure
of salient pale synchronous motor
connecled with infinite bus ?

{2}
{b)
{c)
(d)

Reduce motor torgue and speed
Not charge motor torgue and speed
Stop the motor ;

Reduce moier torque but maotor will-
continue o fun at synchronous

speed

www.student
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94.

95.

96,

497,

A DC chopper is used in regenerative

braking mode of a dc series motor. The.
de supply is 600V, the duly eycle 1s
70%. The average value of armature
current is 100 A, It is continuous and
ripple free. What is the value of power
fedback W the supply ?

@ 3IKkW

(b)) 9kW

(c} EBKW

(@) 35kW. .

What is the ratio of starting torque and
maximurn torque of a 3 phase, 50 Hz,

4 pile induction motor for a maxymum
torgue at 1200 rpm ?

(2} 0421

(b} 0384

&y 06

(dy O3

When a transistor is used in swilching
mode then what ig the turn-on time ?
{a)
{b)
(c)
(d)

Sum of delay time and tise time
Sum of rise time and storage tme
Sum of delay time and storage time

Sum of nse time and fall tme

‘For which one of the. foliowing, the

insttuction XRA A in BOES micropro-
cessor can be used ? ' '

{a)
(b}
{c)

Set the carry flag
Set the zero flag

Reset the carry Tlag and clear the
accumulator

Transfer FFH to the accumulator

@

suvidha:in



studentsuvidha.in/
studentsuvidha.in/
studentsuvidha.in/

98,

99,

100.

If a full wave fully controlled converter
is modified as a full wave half controlled
converter, what will be the maximum
value of active power (P) and the maxi-
mum value of reactive power dernand

(@7

P | 2
(ﬁ} Dauble Half -
(b) Unchanged. ~ Unchanged
(c) Half Crouble
{d) -Unchan wed Half

The power input to a 415V, 50 Hz,
6 pale 3-phase induction motor runming
at 975 rpm is 40 kW. The stator josses
are 1 kW uand friction and windage
Iosses total 2 kW, What 15 the efficiency
of motor ?

(a) 82-5%
(b) 92%
{cy 90%
(d) B88%

A short transmission line having zero
resistance and lotal seres reactance of

-4 pu is provided with jeactive power

compensation at the mid-point of the
line such that the mid-point voltage is
held at 0-96 pu when the voltage at both
ends are 10 pu. What is the steady state
power transmission limit of such a

101.

102,

In smgle pulse modulation of PWM
mverters, the pulse width is 12G°, For an
mput voltage of 220V dc, what is the
mms value 3t the fundamental component
of the output voltage ?

(@) 1715V

(b} 2540V

© 1270V

(dy 8981V

Rg

~ g

The 5i transistor as shown in the circuit
above has A =50 and negligible leakage
current, If V=18V, V=4V, Rp=
20082, Ry =4kQ2, Ry =72k, what is
the value of the quiescent collector
current ICQ ?

system ? fa) 1-1 mA
(a) 48 pu b)) 2mA
(by @0 pu
5 mA
{¢) 24 pu : ©
(d) 96 pu {(d) 3-6mA
19 A - O-FTF-J-FFRB
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1ﬂ3. An output device is interfaced with an

104.

8085 microprocessor as memory-mapped
IYO. The address of the device is 1000 H.
In order to output data from the zccu-
mulator to the device, what will be the

sequence of instructions ?

(a) LXI H, 1000H
MOV A'M

) LXI H, 000H
MOV M, A

(c) LHLD 10001
MOV A, M

{d) LHLD 10G0H
- MOV M A .

What is the form of the ¥, matrix for
carrying out load flow studies by Gauss-
Seidal method of a power system having
mesh connection of nodes 7

(a) Symmetric but not diagonal matrix

_ (b) Diagonal matrix

105,

{c) Antisymmetric matrix

-{d) Sparse asymmetric matrix

T b= LAY
200K 217K
o T R —
, =

In the above circuit as shown f =99,
Vge =06V, then what are the values of
V- and /- comresponding to the cperating

“point ?

(a) 46V and 1.98 mA
(b) 47 V and 200 mA
c} 54V and 1-36mA
@ 42V and 21 mA

O-FTF-J-FFB - A

106. Two fully controlled three-phase bridges

. are conngzcted in anti parallel across a
load to provide reversible DC voltage to
the load. The bridges operate in circu-

107,

lating current mode. The input is,
3-phase 440 volt, 50 Hz AC supply, and
the maximum load current is 30 Amp.
The peak value of the circulating current
it taken to be 6 A. What is the value
of inductance for limiting circulating
current ?

{a) 30 mH
by 32 mH
{c) 30 mH

idy 38 mH

() ]

For the isolated buck boost converter as
shown in the circuit abave, the output
voltage is to be 35 V at a duty cycle of
30%. The DC input is obtained from a
front end rectifier without voltage
doubling fed from a 115 V AC. What 1s
the peak forward blocking v-::ultage of the
switching element ?

(1) 2323V
(b) 6969V

) 16261V

@ 542V
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108. If the amplification of a single stage is
not sufficient or the input or ourput
impedance is not of the correct magni-
tude for the intended application how
may two stages be cormected to achieve
desired result ?

{a) Cascode connection

(b} Complementary symmelry connec-
tion

fc) Cascade connection

{dj Totern pole connection

Direclions ;

Each of the next Twelve {12} items consists
of two statements, one labelled as the
‘Assertion (A) and the other as ‘Reason {RY'.
You are to examine these two statements
carefully and select the answers 1o these items
uging the codes given below -

Codes :

{a) Both A and R are individlih“v rue
and R is the comect explanation
of A

{b) Both A and R are individually true
but R 1s aet the correct explanation
of A

{c} A is true bur R is false.

{d) A is false but R ié true

109, Assertion(A) : The rotor speed of
induciion motor is less
than the synchronous
speed of  rotating
magnetic field.

Reasen (R): At synchronous speed

Motor torgue is zero.

110. Assertion (A) :

Reason (R):

111. Assertion{A) :

R)

[Keason

112. Assertion{A) :

+

(R) :

Reason

113, Assertion(A) :

Reason (R):

21

\ www.studentsuvidha.in

Rotor core loss at rated
specd of induction motor
15 negligibly small.

Induced emf frequency
of the rolor circuit ai
rated speed is very low,
because slip of the motor
at rated speed is Jow,

A capacitor 15 connected
in the polanzing circuit
of the mho relay to
prevent its in operation
when three phase faults
Jecur very close o the
relay. '

Capacitor provides
memory action and thus
Taintains polarizing flux
for several cycles fol-
lowing the fault.

In  small-signal R-C
coupled armplifiers the
pamn falls in the high

frequency range.

The deciine in  gain
with frequency is due
to the reactance of the
coupling capacitor.

Im a typical RC coupled
ampiifier, the gain falls
at lngh frequencics.

The amplifier has to use
coupling capacitors in

the input and output side

for isolating de biasing
circuil and ac signal.

A - O-FTF-J-FFE
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114,

Reason

115. Assertion (A)

Heason

116,

Reason

117, Asserdon{A)

-O-FTF-J-FFB —~ A

Assertion (A) :

(R :

{B):

Assertion (A) :

)

:FM is

The DAC (Digital Analog
Converter) cannot  be
interfaced to micropro-

cessor in an  interrupt

driven mode.

DAC neither needs a
start convert pualse nor it
has indication -of con-
version.

r Monostable multivibra-

tors (IC 74121) are used
in A  mMicCTOprocessor
bhased system for fre-
quency measurement.

Micropracessor  counis
the number of interrupt
stgnals/second or within
a specified  interval
through ISR.

Equalizers are used m
receivers 1o inoiease the
SNER of the demodulator.

The equatizer is
designed such that, their
transfer  function 15

inversely related to that’

of the channel.

capable of
exchanging SNR for the
transmission  bandwidth
while m AM systems
this feature i3 not availa-
bie,

WWW.students_uVidha.in
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Reason

118. Assertion {A) :

Reasor

119. Assertion (A :

Reason

(R) :

R

R} :

120. Assertion (A)

Reason

(R}

. DSB  modulation

Transmission bandwidch
in FM systems 18 much
higher than in AM
SyStems.

DSB modulation scheme
is superior to SSB
maodulation scheme as
far as noise performance
is concermed.

re-
quires twice the band-
width as compared to
SSB modulation.

F5SK signalling is inferior
1o PSK signalling.

PSK requires less band-
width than FSK.

: QPSK modulation allows

higher data rate than.
BPSK for the same
bandwidth oceupying.

: Gray cﬁde 15 used for the

4 signais transmitted in

* QPSK.
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